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Q-1 The Balance Sheet of Ami and Rami who share profit and losses equally was as follows on 01-04-2018 15
Balance Sheet
{iabilities Rs. Assets Rs.
Capital Account - Ami - 50000 Building 36000
Rami - 40000 90000 | Machinery 25000
Creditors ' 20000 | Furniture 8600
Bank Over Draft 4000 | Stocks 26000
Reserve Fund 10000 | Bebtors 28000
Bills Payable _ 3600 | Cash 2400
o Bills Receivable _ 1600
1276007 127600 |-

They admitted Kanu into partnership on 01-04-2018; giving him 1/4th share in future profit on terms.
{1} Kanu brings Rs. 30000 in cash as his capital.
(2) Value of Building i$ to be appreciated by Rs, 4000.
(3) Machinery is to be valued at Rs. 20000.
(4} Value of Furniture to be reduced to Rs. 7600.
(5) Stock is to be appreciated by 10%.
{6) Bad Debts Reserve Is to be credited at 2% on debtors.
{7} A sum of Rs, 960 included in creditors to be written off as it is not likely to be claimed. :
. Prepare Profit and Loss adjustment Account, Capital Account of the Partners and the Balance Sheet of
the new Firm.
OR
0-1 Write short note (any two) ' 15
(1) Entries for Goodwill on admission,
_ {2) Profit and Loss Adjustment Account.
{3) Capital of the new partner. _
Q-2 XY and Z are partner in a firm. Z decided to retire from the firm on 31st March,2018 when their books 15
disclosed the following position:
Balance Sheet

Liabilities Rs. Assets Rs,

Capital Account -X - 300000 Land and Building : 240000
Y - 150000 Machinery ’ 60000

Z - 75000 - | . 525000 | Furniture 12000

| Reserve Fund ' i 36000 | Stocks : | . 300000
12% Mortgage Loan. ' 180000 | Debtors : : 105000
Creditors ‘ 21000 | Cash and Bank : 92000

Bills Payable 54000 _

816000 816000

The following terms were agreed upon:-

(1) tand and Bullding was valued at Rs, 255000.

{2) Machinery was to be depreciated 10%.

{3) 20% was to be written off furniture.

{4) Stock was valued at Rs.277500.

{5) Rs.7500 Is to be reserved for bad and doubtful debts.

The partners share profit and losses in proportion of 3:2:1. Amount due to Z on retirement is to be
retained in the firm as his loan. Prepare Profit and Loss adjustment Account, Capital Account of the
Partners and the Balance Sheet of the new Firm after Z's retirement. .

OR 15
Q-2 Discuss various method of repayment of dues of the retiring partner.
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Q-3

Q-4

-

Write Short note on ‘ 7 15
{1) Realisation Account, '
(2) Insclvency of Partners.

OR
A, B, and C are partners sharing profit and losses in the proportlon of 4: 3: 3 respectively. They decided to
dissolve their firm on 31-3-19; Their Balance Sheet as on 31-3-19 was as under.

Liahilities Rs. : Assets Rs.
Capital : Building 60000
A -48000 Machinery 36000
B -36000 Furnlture 24000
C -36000 120000 | Debtors - 48000 _
Profit and Loss Afc 24000 | -B.D.R. -4800 . , 43200
Provident Fund 12000 § Bank Balance 40800
Loan from Modi 12000
Creditors 36000
: 204000 - 204000

They withdraw whole of the bank balance on 31-3-19. Assets and liabilities were disposed off as follows:
(1) Building was taken over by A at an agreed value of Rs.88800.
(2} Furniture was sold out at 25% less and Machinery were sold out at Rs.24000.
(3) Rs.45600 could be recovered from debtors in full settlement of accounts.
{4) Liabilities of loan from Modi were taken over by B,
{5) Other liabilities were paid out fully.
(6) Realisation expenses paid Rs.1200.
Prepare the Realisation Account, Bank Account and Partners' Capital Accounts
Chetali, Hetali Nirali are the partners in a firm sharing profit and losses in the ratlo of 4:3:3 respectwely 15
The balance sheet of their firm as on 31- 03-2019 was under.

Liabilities : Rs. Assets - Rs,
Capltals Accounts- Chetall - 24300 Fixed Assets ~ 45000
Hetali - 18300 Cash on hand 5000
Niralf - 12300 55500 | Debtors 19500
Creditors 15000 | Profit and loss Afc {debit) . 1000
70500 70500

The firm was dissolved on 1-4-2019. It was decided that the plecemeal distribution of cash may be made
after keeping Rs.2500 as a reserve for dissolution expenses. The assets realised as under. '
First installment Rs. 27000
Second installment Rs. 15000
Third and last installment  Rs. 9500
Actual dissolution expenses amounted to Rs.2000.Prepare a statement showing piecemeal distribution
of cash as per "Surplus Capital Methnd" : ' '
OR .

(A} The balance sheet of Jagdish, Vijay and Kaushik as on 31 March, 2019 was as s follows: 15
Liabllities Rs. ' Assets " Rs.
Capitals - Jagdish . 66000 | Assets 210000
Vijay 108000 |
Kaushik 36000
210000 210000

They shared profit and losses in the ratio of 3: 2:1. Assets were gradually realised and cash distributed
among the partners as follows: '

On 31st June, 2019 Rs.60000 |
On 30th September, 2019 Rs.42000
On 30th December, 2019 Rs.36000

Prepare a statement showing piecemeal distribution of cash as per "Maximum loss method",
{B) Write short note on "Maximum Loss Method"
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